EHcnl

s ~0)h,§Fﬁ._- B

. B%Eﬁ\i_jj? AL hAUTZATY

KA ITHEBEHLELE X 0 e

o L A&t 2—FILSAF
-135-88 )
1 *—)L otoiawaseb@turtl d
e—-ride.com

KT ECDECM AR RIT B R &%
~L =
FUFEY, FMIEERBICEHEETSVE
=] \ -E-o

FEEINN:
NI [NER T =
NI INER T FHET(1)
TN INARTH FET(2) 684
EEIN] INEET E(3) 395 513
FEEI B /INEREH KHET(4) 469 296
]| ,é INAET FRHET() 374 352
s 1| NE[R T FRH1(2) 505 281
#HE]| ,Ef /INAET HHT(3) 418 379
NN NART HEET(1) 464 314
#wE|l ,EI\ IMNAET =H1(2) 502 348
e 1|15 NERT ER(3) 348 377
FEEIIE] /AT JEET(4) 453 261
m=)l B /INEREH ZHT(1) 456 340
= || 12 INEET AHE[(2 255 342
M) INART AHE(3) 522 191
= || 12 INARTH ZRHT(4) 435 392
FEEINE] /INEET BN 342 326
T EIMN! NEET EaHT(1) 12 257
M) INART FAH1(2) 221 9
= || 1B INEET EIRT(3) 190 166
SN NART FIAT(4) 358 143
M) NERIRT FFET(1) 332 269
M) NERIRT FFHE1(2) 357 249
T EIMN! NAR T FHI(3) 217 268
I NEET FH4) 422 163
I NEET FH1(5) 421 317
M) NE[ET HE(D) 453 316
LI /NER & RET(2) 790 340
LI /NER & EXE) 197 593
I NEET HE4) 494 148
x| =] /INEIRETH EXG) 195 371
I NAET ZINE) 377 146
NN NE RS HIL(2) 718 283
FCEJIL N [T FL(3) 499 539
I NEET (4) 547 374
NN INEIE FRHET(1) 196 410
LI NART FBHI(2) 1361 147
I (NEIRT FRHT(3) 663 1021
LI NART FBHEI(4) 504 497
FEEIMN] NER FRHT(S) 50 378
*$3-§1||E|: /NERET FRHT(6) 711 38
I /PNHEET 1%(4) 0 533
WS 8 N R T2 4) 1 0
I /N R RE 16 1
wEE INBE T 3z 1444 12
L EIN /N IRTH AL 37 1083
NN IR F 4@ 138 28
FEEINN! /NEIRET EX 44 104
FCEIN! /MEIRT EIEF 308 33
RIS NHIR T SR 3606 231
FEEINN] NE[ET Bl FH ] 1064 2705
L EIN /NS B2 KN 2212 798
FCEIN /N G 932 1659
CEJL /N [ T NG 283 699
FEEIMN] /N R = 492 212
I /N R 5] 785 369
NN NEET /= 452 589
- /R T BIKHTE 803 339
AN 425 602
551 319
413




EJMIE ==

ﬁ;j: = ;:Egg J\ERFTH 166 125
e ;[ /\EJ%;; /AE; 4618 3464
e /\531?“ }i; 1523 1142
g :EE /\EHJ?E ERE(2) 151 113
SEE : \EHJ?E RS 434 326
T I\EHJ?E AZEH 369 277
£a 'R e T KZE 28 21
m% 'R I\EJEE E 469 352
W% 'R I\EJEE BIJ1(1) 208 156
W% 'R I\EJEE BJ11(2) 286 215
1@;'-—,; = : \Eﬁgﬂ EJ_I (3) 559 419
1@%——;% EE /\EEHE':E T 634 476
SEE /\53;?[1 b8 1991 1493
LI TER e Y &t
e /\531?-1 = 2414 1811
£a 'R 2 T F#HHE 262 197
1@%—:—; 'R /EEE F#HH 57 43
2 'R / \EHF%E _:F%)lﬁa 204 153
o 2 I A Eﬂlﬁ%gm 551 413
?ﬂi%’—-;Jl 'R / \EHE!_E Eglﬂ%é(Z) 943 707
m%&:“ :EE / \EEE? rza@%s(s) 809 607
e / \EHJ;?_F; =Lt 2000 1500
fE I\EEJ;?_H faLl 3158 2369
AR NEET e T5h KED
wmxJIE NE R g‘k'EE T e
eI NEET it i 753
W I NERT 4z o L
#HEIE / \EHJ:?_F-T B e =
11T S Y1 5 o 303
i : \EEJ:%E IKIF 404 303
W I NERT LRE a8 o
eI NEET . 3 150 14
BANE [ hEEm E 74 st
LI N R P o 2
s /\EEJ'ﬁ‘I B0 243 182
S :Ei /\EEJ%E E.Eii/j':[fﬁ 257 193
T
s /\EEJ'ﬁ‘I Elrﬁ;i 2441 1831
e R I A Elrﬁgim 112 84
2] 'R / \Bﬂﬁﬂ @rﬁgi(z) 287 215
e R / \Bﬂﬁﬂ Elrﬁgi(s) 204 153
2] 'R / \Eﬂﬁﬂ Elfﬁzi(@ 180 135
2] :EE : \EEEE E5EIG) 294 221
] —— — o
T /\Eﬂfﬁ“ :,ﬁ’a 284 213
e Sl ! \Eﬂfﬁﬂ {EE(U 863 647
S ' : \Bﬂfﬁﬂ ZEE(Z) 944 708
S ' : \Bﬂfﬁﬂ gﬁﬁ@) 370 278
th, : \BHJ?E gﬁﬁ@) 614 461
gz / \EHJ%E BHE5) 461 346
*ﬂazm NEET %2%33 2 >
iitj” ;EEE PaAE1) 247 18§
£als : \EHJ%E Egﬁﬂ(z) 269 202
Al Ih A FEAE3) 235 176
£als : \glﬁﬂ N\ 41 31
£als / \EHJ?%E VN 465 349
£als / \EHJ?%E VN0 659 494
£als / \EHJ?%E 1M\ E(3) 477 358
gz / \EHEE / \/\@(4) 296 222
SN NEET o 2 =
LTI /\EHJ%“ K 122 92
£als /\EHJ%E BRI 242 182
£als : \BHJ%E /I,E‘%ﬁ 118 89
e L,— I\EEJ%E FEIH 218 164
SEE ,L.— b 5 TXH 223 167

=] HEmH G 282 212




wmE)IE
A /INEIETH =
w1 e i
NI MEET B E
1 ,E\ REam FIRE 1575 41
1l ,E\ pRiL bR I8 167 1181
Tl ,E\ e _FHT 1294 125
= 15\ LSl N 70 971
B ,E\ Nl e N} 382 53
*$%§“ ,E: I \EHJEF-T AR 34 287
*$§“ ,E ] \EJEF-_] EE, .\’r’r 75 26
L INEHIET =EAB o 56
1EE 03] 785
! 163
3




